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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
[HlesuenkiBchke 3 18 3,1 - 9C31 Q3+bn 76 0,7 1A 27 32 410 2e subipkosa | Mowkomkenns 30 3riIHO
{1leByeHKIBCbKE 3 19 1,5 - - - 10C3 76 0.9 1A 27 28 515 2e caHitapHa | crosOyposuvn 25 marepianis
[llesuenkiBCcbke 4 4 1,8 - - - 8)132C3+bn 111 0,70 1l 28 36 380 2 pyOka WIKIIHKKAM A 30 1icBNOPAAKYBaHHA
lesuetkiBcbke 4 5 0,7 - - - 10C3 66 0,75 1A 27 30 450 2 B e 25 HE BUABJICHO
IlleB4eHKIBCBKE 4 27 14 - - - 10C3+/13+Ak6 75 0,7 1 26 32 400 2 R «“ 20 B
[HeBuenKIBCHKE 4 28 0.8 - - - 10C3+/3 73 0,7 IA 28 36 440 2 “ P 25 o
1llesueHkiBCbKE 4 31 1,7 - - - 9C31 /13 72 0,7 1 25 28 360 2 - - 20 Pt
LlleBueHKiBCbKE 4 32 2.3 - - - 9C31J{3+bn 69 0,75 I 25 30 420 2 B B 20 Bt
[1leB4eHKiBCHKE 7 ] 10,0 - - - 10C3+/3+bn+0c¢ 76 0,80 1A 28 32 500 2e a R 30 Bl
[LeBuenkiBCbKE 8 7 1,5 - - - 9C31 13+bn 91 0,70 1 27 32 400 2e Bl Bt 25 Dt
1lleBueHKiBChKE 8 22 1,3 - - - 9C31 J3+Akb 76 0,8 1A 28 32 460 2 Bars et 25 Pl
1lleBueHKiBCHKE 8 26 0,9 - - - 10C3+ /13 86 0,70 1 27 32 420 2 - P 25 e
[Lies4eHKiBCHKE 8 30 0,8 - - - 10C3+bn+/13 85 0,60 1 25 28 320 2 - “ 25 B
[HlesuetikiBebke 8 34 1,7 - - - 6J134C3 101 0,70 1 25 32 350 2 ‘e e 25 B
LleBueHkiBCbKE 8 35 0,9 - - - 5C33b6m2)13+Bau+Oc¢ 73 0,60 1A 28 32 280 2 < Pt 20 R
[IleBueHKiBChbke 23 26 0.8 - - - 10C3 61 0,70 1A 23 28 340 2 . - 20 A
[HeBueHkiBChKE 23 36 1,3 - - - 10C3 54 0,80 1 21 24 355 2 o Bl 25 -




1 2 3 4 8 9 10 11 12 13 14 15 16 17 18 19
1lleByeHKiBCBKE 23 37 1,5 10C3 56 0,75 I 20 24 300 2 BubipkoBa | Homkomkenns 25 3rigHo
lleByeHKiBChKE 24 26 2.7 10C3 56 0,70 I 20 24 280 2 caHitTapHa | crosGyposumn 20 Marepiaiis
LlleBueHKiBChKe 24 30 0,8 10C3 66 0,75 I 21 24 320 2 pyOka LUK AHHKAMHU 25 JiCBHOPSAAKYBaHHSA
IleByeHkiBchke 33 15 2,1 10Cs3 56 0,75 1A 22 26 340 2 P - 25 HE BUABJICHO
IlleByenkiBebke 33 16 3,1 10Cs3 56 0,80 I 21 28 340 2 -4 - 20 -
IleBueHkiBCLKe 41 24 1,7 10Cs3 56 0,80 I 20 24 320 2 - “- 25 <
[lleBueHkiBChKkE 41 26 0,7 10C3+Ak 56 0,70 1A 22 24 320 2 . B 20 <

Katioxancbke 1 2 0,2 10C3 89 0,60 [ 27 36 360 2 a = 15 =5
KaTtoxaucoke 1 4 2,7 10C3 63 0,80 I 20 24 320 2e - - 15 -
KatioxaHcbke 1 5 1,4 10C3 91 0,40 I 26 36 300 2e e B 12 <
KaTmioxancoke 2 13 2,1 10C3+13 91 0,70 I 27 36 430 2e = e 12 &
KattoxaHcbke 2 14 7,1 10C3+]13 - 66 0,80 il 20 24 330 2e Lt - 15 s
Katioxancbke 2 24 1,8 10C3+bn+/13 86 0,65 I 23 32 310 2 Bt B 10 B
KamtoxaHcoke 2 42 0,8 10C3+d3+bn 64 0,60 I 21 24 260 2 = o 10 -
KarioxaHcbke 17 5 16,3 10C3+/I3+bn 63 0,85 I 19 24 315 2e RS < 15 -
KaTtoxaHcbke 17 6 9,0 10C3+[3+bn 58 0,80 I 21 28 340 2e - - 15 B
KartoxaHcbke 20 1 0,9 7C33d3+bn+3 96 0,70 1A 30 36 430 2e “ - 10 -
KaTmioxanchke 20 4 1,3 10C3+/[13+bn 91 0,60 [ 26 32 340 2e - =& 10 By
KarioxaHcbke 23 5 440 10C3+Bbn 62 0,80 [ 23 28 390 2e Bt - 15 o
KariowaHcbke 36 39 2,1 10C3+13 91 0,80 i 27 32 495 2e Bt - 15 =
KatroxaHchke 59 17 39 10C3+/13+bn 59 0,70 1A 24 28 360 2e - = 28 -
KaTioxkaHcbke 81 13 2,6 10C3+/13+bn 66 0,70 1A 25 28 380 2e Eat -« 25 *
Katioxancoke 81 14 1,3 10C3+13 91 0,70 1 28 36 455 2e B = 27 -
KartoxkaHceke 81 32 1,2 8bn2Bau+C3 71 0,50 I 23 28 150 2 = - 25 <
Katioxancbke 81 43 3.5 9¢31bn+3 63 0,70 I 22 28 310 2 - B 25 .
KaTioxaHcbke 82 1 2,5 9C31 I3+bn 63 0,75 I 22 24 330 2e “ “ 25 Bt
KatioxaHchke 82 72 0,4 10C3+]13 111 0,50 1 30 40 340 2 “ - 20 -
KaTioxaHcbke 82 73 0,3 10C3 63 0,60 1A 24 28 310 2 *a = 20 Bt
Kamioxancnke 82 84 12 5C3513+bn 121 0,60 I 30 40 280 2 = =& 25 =
KaTioxaHcbke 83 22 0.6 5Ca51a 54 0,70 1A 22 24 270 2 o B 22 -
KaTiokaHcbke 83 23 2,0 10C3+/13 61 0,70 A 24 28 360 2 B = 21 Pl
Karioxancbke 84 26 0,8 8J132C3 109 0,60 1l 27 36 330 2 B =& 21 B
KaTionancske 84 29 0,4 8132I'3+Oc+Bau+bn 112 0,50 1 27 40 200 2 - e 22 -
Katioxanchke 84 35 0,3 10C3 66 0,70 1A 27 32 390 2 = Bt 25 £
Karioxancbke 84 38 0,4 5bn4Q0c1I3+/[3 71 0,60 [ 25 28 220 2 = = 20 Dt
KaTioxatcbke 85 26 2,0 Sbn2Br lﬂI? 10ells+ ] oy 0,70 I 25 28 260 2 20
Karmioxancbke 86 18 2,0 70c¢2bu 1T 3+Bny+/13 77 0,50 I 26 32 220 2 o R 21 s
Kamosaschie 86 19 14 5C325"2)13r‘ F3+OctKnl gy 1 060 | 1A 25 28 220 2 21
KatioxaHcbke 88 2 1,0 10C3+ A3+ 3+Knr 65 0,70 IA 26 28 400 2 e “ 24 -
KaTioxaHcbke 88 4 0,7 7C311311'310c+bn 73 0,70 I 25 28 280 2 “ £ 22 s
Karnoxancbke 89 27 0,5 9C31/13+bn 67 0,50 [ 24 28 250 2 e £ 20 =
Kamioxkanceke 89 29 0,8 8C31/1316n 65 0,70 1 23 28 280 2 -5 - 20 =
KarioxaHcbke 89 30 0,8 6C33bn(81)1bn(81) 121 0,40 I 31 60 200 2 e - 22 -
KaTioxkatchke 89 36 0.8 SKac3bnzKartslietOc) o, 0,70 1A 2 28 220 2 20
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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
KaTioxkaHchke 89 37 0,3 7C33/13 57 0,70 1A 23 28 310 2 BHGipKoBa | Mowkomwxents 22 3rigHo
PynHsHCbke 1 18 6,7 - - - 10Cs 56 0,70 1 19 20 260 4e caHiTapHa | croBGyposumu 20 Marepianis
PyausHcbke 2 21 1,0 - - - 7C3(30)3C3(50)+13 30 0,50 m 8 14 60 4e pyOka LK THHKAMH 10 JIiCBNOPS AKY BAHHS
PynHsHcbke 2 15 49,0 (1) 13,0 13,0 10C3 51 0,70 1A 21 20 300 4e =“a < 20 HE BUSBJICHO
PynusHCHKe 6 I 16,3 (1) 0,6 0,6 10C3 56 0,75 1 21 22 320 4e < s 15 “
Pym-mécske 6 4 30 (@] 0,4 0,4 10C3 85 0,60 1 21 36 220 4e - - 10 o
PynHsHchke 6 13 9,6 (N 0,5 0,5 10Cs3 61 0,65 I 20 24 260 e Bt - 20 “
PyausiHchKe 6 20 9,7 (1) 0,3 0,3 10C3 56 0,70 1 21 20 300 4de Bt e 10 -
Pynaancbke 9 1 0,8 ) 0,2 0,2 10C3 72 0,60 1 23 26 290 4e = < 20 -
PyauHsiHchKe 9 3 6,5 - - - 10C3+]13 72 0,65 1A 26 30 370 4e “ - 20 e
PynusHcbke 55 13 32 - - - 10c3+Bn 66 0,65 1l 20 20 270 4e - - 20 .
Pynusincbke 67 4 14,9 (1) 22 22 10C3+bn 71 0,65 I 24 28 330 4e Bt o 18 e
PyaHsHCbKe 67 5 3,5 (1) 14 1.4 10C3+bn+/13 71 0,70 I 23 28 350 4e = Bt 19
PynusaHcbke 92 24 1,6 ) 0,4 0,4 10C3+bn 76 0,65 I 24 26 330 4e - “ 21 =
JUIHInpoBCcbke 54 3 2,8 - - 10C3+bn+I3 57 0,70 1A 24 26 370 4e = “ 25 Bt
JIHinpoBcEke 55 35 1.8 - - - 7C33Bn+I3 66 0,70 1 24 26 280 4e £ “a 21 £
JlHinpoBceke 57 7 37 - - - 10C3+/[3 66 0,65 I 24 26 330 3e - Bt 28 e
JlninpoBchke 57 41 30 - - - 10C3 61 0,65 I 22 22 310 3e - Bt 30 s
JlninpoBcbke 62 23 1,8 - - - 10C3+/13 84 0,65 1 25 30 360 3e - - 25 “a
JIHinposcbke 63 8 1,8 - - - 7133C3 81 0,50 11 21 26 170 3e % “ 25 B
Ininposceke 63 9 1,2 - - - 6/131C31bn2Bny 81 0,50 1 20 24 150 3e BHOIpKoBa | [Mowkomxenns 30 3riIHO
JHinposceke 68 4 4.6 - - - 10C3 54 0,83 I 21 22 360 4e caHitapHa | cros6yposumu 25 Marepiais
Jlkinposcbke 68 14 2,4 - - - 9bn1C3+3 45 0,70 1A 21 22 210 4e pybka WKiAHHKAMH 28 JiCBIIOPSAIKYBaHHS
KamsHcbke 11 7 5,5 - - - 7C31131I31Bn 91 0,65 I 28 36 330 2e Bl e 30 HE BHABJIEHO
KamsHchke 24 9 1,0 - - - 7C33/3 100 0,60 1 27 36 320 2 £ - 28 -
KamstHcbke 30 10 9,5 - - - 9C31bn+/I3 64 0,80 I 23 24 350 2e - = 31 .
KamsHcbke 30 19 9,0 - - - 6C32/132bn+0c+I"3 65 0,80 I 24 26 310 2e s - 36 -
KamsiHcbke 36 18 13,0 (1) 4,0 4,0 10C3+/I3+T"3 102 0,50 1 28 32 377 2e “a - 32 -
KamsiHcbke 41 17 32 - - - 10C3+[3+bn 91 0,65 1A 31 40 480 2e -« = 27 &
Kamsaucbke 44 13 2,5 - - - 10C3+bn+/3+I3 95 0,65 1A 31 40 460 2e - e 30 B
KamsHcbke 44 14 1,7 - - - 9C31 13+Bn 80 0,65 1A 29 36 440 2e “ Bt 21 Pt
Kamsncobke 44 15 0,8 - - - 9C31bn+3+"3 90 0,60 1A 30 40 415 2e - B 24 -
Kamsincbke 44 16 1,5 - - - 9C31/3 56 0,70 1A 24 28 340 2e -« - 28 e
KaMmsncobke 44 17 1,5 - - - 8C31bnl I3+I3 78 0,70 1A 28 32 400 2e - = 31 .
Kamsticbke 44 18 0,7 - - - 10C3+][13+bn+I3 95 0,65 1A 30 36 470 2e - - 33 e
KamsHcbke 44 19 1,2 - - - 10C3+[13+'3+bn 69 0,70 1A 27 30 420 2e B - 26 ‘.
KamsaHcbke 44 20 1,1 - - - 9C313+bn+3 78 0,65 1A 28 36 390 2e < -5 27 “
KamsHcbke 44 23 14 - - - 7C31 132I3+Oc+bn 65 0,70 b 28 36 340 2e - Bt 30 “
KamsiHcbke 53 11 1,3 - - - 10C3+bn 80 0,40 1A 28 36 330 2e - Bt 25 -
Kawmstcbke 57 4 3,2 - - - 10C3+/I3+bn 107 0,50 1A 31 40 400 2e - = 29 .
Kamsancbke 57 10 1,6 - - - 10C3+bn+/13+I3 107 0,70 1A 31 40 550 2e = e 23 <
Kamsitceke 64 18 30 - - - 10C3+/13 78 0,65 1A 29 36 460 2e “ - 24 -
KamsiHcbke 66 9 0,8 - - - 10C3+d3+Bn+I"3 107 0,55 IA 31 40 430 2e £ ‘. 30 -
Kamsncbke 67 4 33 - - - 10C3+M3+/13 106 0,60 IA 31 40 445 2e = . 28 <
Kamsancbke 67 22 32 - - - 10C3+ 3+ I3+Kar 106 0,60 1A 31 40 430 2e “ = 29 “
KamsHcbke 67 25 23 - - - [0C3+I3+Knr 106 0,65 A 31 44 480 2e = -« 26 -




1 2 3 4 6 7 8 9 10 11 12 13 14 15 16 17 18 19
KaMsHcbke 67 26 3,7 - - 10C3+[3+ 3 91 0,70 1A 30 36 510 2e BHOipkoBa | TowkomwkeHHa 31 3rigHo
KamsaHcbxe 67 31 3,3 - - 9C31I3+bn+3 78 0,70 1A 28 32 440 2e cadiTapHa | crosbyposumu 29 Marepiais
KamsiHcbke 80 6 16,0 - - 10C3 51 0,80 1A 21 24 334 2e pybxa 11K THHKAMH 40 JCBIOPSIIKYBaHHS
BCHOI'O 281,5 23,0/—2@?:\ HE BHSBIICHO

-‘\(';‘Cb"\ | :/4,’——’—\
hwpeKTop an "Oumepcbke ni pcTeo” T B.l. MnyweHko

ﬁf d? 20 ﬁpoxy

T\MY‘BO ot

S !lCll'rmb_,'H .:.K“t".
. Ko;mlm"”g

[%

6 992036

M

3 %)
o, a0 N

s

(nignwc)




